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SHSEE 5A~3A% %8 NEB WY

A|B| XHEH XHRAS IRA®E | XHEE| %S e

5 1 dAEE (IS 120,000 120,000

5|18|| E#%E |&RFERAE 1,400 118,600  50%&t L
5 18] =& ErEi5H 300 118,300

521 ZHE |[AVIUR 1,604 116,696  50%5t L
5|24 HHE |[N\varHKE 104,714 11,982  80%Et Lk
5|30 Z=#%E (AVvIoK 2,288 9,694/  50%Et L
5 (31| BF5iEEE (A& (5-684)@180,000% 2H 360,000 369,694

5|31 IBLRE [MLEBEERE A 120,000 249,694

6 20| =& ErEZN 300 249,394

6 | 28 || AEMAEE |RHMET ETEFZAR 1,500 247,894

7| 3 || Bui5iEEE (A&(7-8-98%)@180,000% 3H 540,000 787,894

715 HHEE |[ARERRE 1,900 785,994  50%Et L
7|15| EHE |RAVT(RIREERL)R 3,184/ 782,810  80%itLE
7126 =& ErEi5H 800 782,010

7126| =& ErEi5 200] 781,810

7129 =& s 1,200( 780,610

7129 =& ErEi5H 500 780,110

7130 ==& ErEIZN 660 779,450

7|31 HHE |FYTFRUEBA 5689| 773,761 80%Et £
8|3 EHE |AVIVUR 2,894 770,867 50%&t L
8| 8 LiEE |REMEH BEEEZA 594f 770,273

8 |10 £=& ErEIZN 880 769,393

8 (13| =#HE |AVIUK 1,496 767,897 50%EtE
8 |16 FHsE |TE I ARCRISERIE ARNL 25000 742,897

8 |18 =& ErEi5H 200 742,697

8 |23 ZH:HE |AVIURK 2,357  740,340| 50%EtE
8 |25 =& ErEZN 396( 739,944

8 |29] JAERE |[t—LR—CHIEE 7S 5500| 734,444

8 |29| IL#RE |RBLAKR—bvoll THAUE 38,500 695,944

8 |31 =ZHE |AVIVK 2,280 693,664 50%tLE
8 |31 AHE |XBERFAMSAR 30,000( 663,664
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A|B| XHEH XHRAS IRA®E | XHEE| %S e
9|1 e+ ErEIZN 300] 663,364

9|1 Ed ErEIZN 700| 662,664

93| ZHE |AVIURK 472| 662,192  50%5t Lk
9|5 EE ErEIZN 545 661,647

9| 6| LikE |[F—LX—THEESASN 5500 656,147

918 =i ErEi5H 1,400 654,747

9 | 13| =HEHKE |[HVIVRK 2410  652,337]  50%EtE
9 |19| G#HE |RBLEKR—kvoll RRTs2TH 67,324 585013  50%FtE
9 21| HHE (AVIoK 2,557 582,456 50%&t L
9 |30 =& ErEi5H 300 582,156

9 |30 AE |EBRIHOAL 30,000 552,156

10| 1 £ ErEi5 600 551,556

10| 2 | iisEENE (A2 (10-11-128 %) @180,000 X 38 540,000 1,091,556

10] 2 EBE |AVIVUR 2,325( 1,089,231 50%5t k£
10| 6| L#HE |[F—LRX—THEE 9 11,000 1,078,231

10| 6 LiEE |RRMEH EBEEEHA 400[ 1,077,831

1016 HrE |AVIVK 2,554 1,075,277 50%&t L
10|21 =& ErEIZN 1,200 1,074,077

10|23 E=#%& [AVIoK 1,991 1,072,086  50%&t L
10|28 =& ErEi5H 400| 1,071,686

1030 Hxzg |AVIVK 2,497( 1,069,189 50%5t L
10|31 =& ErEIZN 300| 1,068,889

1031 A#E [EHZRFIH 10AS 30,000 1,038,889

1] 1 Ed EEZN 300( 1,038,589

1] 3 EBHE |AVIVUR 1,426 1,037,163 50%5t Lk
M| 3| HBHEE [LE3—/WISMMEA 185 1,036,978  50%5tE
1] 9 B3 e 1,100 1,035,878

i) =z |AVIVK 2,025 1,033,853 50%5t L
nif =&EE HESK 300|| 1,033,553

112 =& ErEi5 1,386| 1,032,167

114 LEHEE |ERMEH BHEEK 100 1,032,067
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A|B| XHEH XHRAS IRA®E | XHEE| %S e
1|16 E=#HE [AVIDK 2,012 1,030,055 50%:tE
1|17\ =& ErEi5H 200[ 1,029,855

1|18 =& ErEi5H 1,000 1,028,855

19| =& ErEIZN 600| 1,028,255

119 =& e 500( 1,027,755

1|21 GHRE |[R—LRX—THEE 10AS 11,000 1,016,755

121 L#HRE [RELER—bvol2 ERE 22,000( 994,755

11|25 =& ErEi5 400] 994,355

1|25 HHE |AVIVK 2,010( 992,345 50%EtE
11|26 =& ErEi5H 594( 991,751

1|26 =EE |HESK 198 991,553

130 A&E |EBEIHUAS 30,000 961,553

12| 5 EBE |AVIVUR 2,252| 959,301 50%5t L
12| 6 || AEHRE [RIESE HESAK 2,000 957,301

12| 8| IL#HRE |[F—LR—THEE 1AL 11,000] 946,301

12] 9 E: s 1,400 944,901

12110 =& ErEi5H 500 944,401

12|14 =& ErEIZN 300 944,101

12 15| AEMRE [R/MEE BHESHAK 750] 943,351

12| 16| JG#HE |RELEKR—bvold RRTUTH 283,241| 660,110 87.5%5t L
12|16 [a#E |EBLKR—btvol3 EIRIZER 113,071 547,039 87.5%5t L
12119 =& ErEIZN 400 546,639

12(20 HHE |AVIVK 1574/ 545065 50%Et Lt
12|29 =HZE |UFK 416 544,649  50%Et L
12129 HZ:HE |AVIVR 2,166( 542,483 50%5t Lk
12131 A& [EHBZRIH 129 30,000 512,483

1| 4 || B#EeE |(A£(1-2-384)@180,000 x 38 540,000 1,052,483

1[5 Eg ] ErEIZN 1,600( 1,050,883

1|6 || AEHARE |ERRE HEHA 300[ 1,050,583

117 £ ErEi5 700( 1,049,883

117 E s 400( 1,049,483
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A|B| XHEH XHRAS IRA®E | XHEE| %S e
18| =& ErEIZN 500| 1,048,983

118 Ed ErEi5H 1,980 1,047,003

18| ZHE (AVIVUKR 1,758 1,045245|  50%5t L
1 [10|| SAEMRE |RHMRE BHEHA 800| 1,044,445

11| £& e 1,000] 1,043,445

112 =& ErEi5H 1,200 1,042,245

113 =& ErEIZN 594( 1,041,651

114 =& ErEi5 800| 1,040,851

114 HBHE |[HVIUK 2,087 1,038,764/ 50%EtE
1|16 |[|=# - meEnz (5 EIGH 792|| 1,037,972

1|20 =&EE [HESK 600( 1,037,372

122 EHBE (AVIUR 1,892 1035480 50%EtE
126 =& ETEZN 300( 1,035,180

1|26 IG#mE [RELKR—bvold FRE 38,500 996,680

1|27 =& L3 e 300] 996,380

1|28 =& s 1,200 995,180

1|28)| HHEE |[AVIUK 495 994,685  50%Et L
1129 Z:HE |[AVIUK 1,510 993,175 50%5t E
1129 =& ErEi5 900 992,275

1|29 AEHRE |R5MEE EEEHIGHK 1,500 990,775

1|31 AGE (| FHBERFEHN 1AL 30,000 960,775

2|3 Ed ErEIZN 3,168/ 957,607

2| 4 £ e 594 957,013

2| 4 Ed EEZN 100] 956,913

2|7 EHE (VIR 1,892 955,021 50%&t £
2 |16 ZHBE [HVIUR 2,015 953,006 50%:tE
2 |21 || AEHAEE RRETE EHEFAR 600| 952,406

2 |28 HHE |(AVvIoK 2,173 920,233 50%5t L
2|29 AH#E |EBERIH 2AR 30,000 922,406

3|1 EHKE |BRERK 1,840 918,393  50%:t L
3|7 E%E |(AVvIoK 1,840 916,553  50%Et L
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A|B| XHEH XHRAS IRA®E | XHEE| %S e
3|10 =& ErEIZN 700] 915,853
3|16 HHE |(AVIoK 2,119 913,734/ 50%5tE
3|18 =& ErEi5H 600 913,134
3|23 =& ErEIZN 300 912,834
3|23 =& ErEIZN 300] 912,534
3|24 =& ErEi5H 300 912,234
3|24| HHKE |[HVIVKR 2014 910220] 50%EtE
3|25 =& ErEi5 1,400] 908,820
3|29 HHE |[AVIoK 2,069 906,751 50%5t £
3 |31 AGE  |FHBERFEH AL 30,000 876,751
4|5 LHRE |HR—LR—TH1EE AN 11,000( 865,751

2 &t 1,980,000 1,114,249 865,751




